Ming statements about
1adda D258 Session

it was presioed over by Jawaharial
Mehru.

o |tdeclared ‘Puma Swaraj' or complete
independence.

3. Decided to celebrate Jan. 26" 1930
as Independence day.

4. Gandhiji gave call for Do or Die.

\dentify the correct statements.

(A) 1and 2 only

(B) 3 and 4 only

(C) 1,2and 3 only

(D) 1,2and 4 only

A galvanometer has a resistance of 30 C2and
a current of 2 mA gives full scale deflection.
How will you convert this galvanometer into
a voltmeter of 0.2 V range 7
(A) 700 (resistance should be connected
parallel to the galvanometer
(B) 70 0 resistance should be connected

parallel to the galvanometer

(C) 700 €} resistance should be connected

(D) 70 Q resistance should be connected | '3
in series to the galvanometer

(A) 7

»: adda

(D) Mone of these

The baking quality of wheat is atiributed 1o

(C) Glutenicacid (D) None of these

A magistrate has the power 10 direct the

(A) anon-cognizable offence

(B) a cognizable offence
cognizable offence the police is under

a duty to investigate

in series to the galvanometer

77 =2 n = N is divisible by

(C) 5

(A) Glutenin (B) Gluten

police to investigate into

(C) only a non-cognizable offence as in a
both (A) and (B)

(D)

aft w4 A0 |

(A) 132 %ad
(B) 33n 4 %9
(C) 1,2 33w

(D) 1,2 30 4

2. 30 ufiu 3 2 mA firge w1 o e
q_uiﬁumfaamtmhmwﬂ_ﬁﬂm
& um aveediey &R wyain w9 0
(A) 700 ¢ fring frendtzn @ e 4 @

m x -

8) 70 oufidn =waniize & wxie § Wy
N () 700 (yafivira A=tz & yen & g
. _lo) 70 afrine Aewiefize @t furen # Wiy
- = it
3. F-2.neN____wmfraeah

(A) 7

8) 2

(C) s

(D) T & wrd Tl
a. ﬁiﬁiﬁhr_pwm_ R e

(A) (B) wpa

(C) == e (0) = & wrd o
5. W gz % um gfer

B A

(A) 7 -z sy
(B) % HI ™
(C) e % M w3 avpery, it s s

O WM e et
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which one of the following is not an Internet

10.

1.

12,

3/2018 (1) (E)

. : . Frfafiga @ & ¥ - v o o T 50
service Provider (ISP} in India 7 6 (SP) ARt 8 i
() VSNL (A) #hmTITE
(8) BSNL (B) wrawamer
(C) ERNET India (C) ERNET 3fgm
(0) Infotech India Ltd, (D) Yo sz fafaze
The task which is not performed by Election 7. TRFH ) A F qEE wam g T .
Commission of India is 16|
(A) lssuing notifications for elections (A) AT #1 s Wi w
(B) Preparing electrol roll (B) FAE AT AU W
(C) Nominating candidates (C) 3raiirai %1 v -
(D) Implementing model code of conduct (D) FEh AR TN
Which of the following statement is correct 7 8. FefafEadass-mem ot
(A) Modem converts the analog signal into (a) "En vdafn wFe & fefars e o
digital signal and vice-versa Foern b i fefra o W ofain
(B) Modem is a software wA | gz B
(C) Modem helps in stabilizi ng the (B) WIEW U wiwaur y
voltage (C) =18 F2a H o o & we B
(D) Modem is the operating system (0) wrEm v wfwfn wemeh #
Right to Information Act (RT1) was enacted 9. T s w sfufmmad o #m
inthe year of B
(A) 2003 (B) 2004 (A) 2003 (B) 2004
(C) 2005 (D) 2006 (C) 2005 (D) 2006
. o adday
(A) CuFes, (8) P ) CuFeS, (B) PbS
(C) Zns (D) CaSO, (C) 2Zns (D) Caso,
Who among the following have been awarded | 11, 1971 & WA -mitesrs & 4 frferforn 4
by Param Veera Chakra for his service during nﬁmmﬁummﬂmaﬂﬂmm
Indo-Pakistani war of 1971 7 fiemn 7
(A) Hoshiyar Singh Dahiya (A) erfimam faw afien
(B) Karam Singh (B) wm fam
(C) Vikram Batra (C) famnam
() Yogendra Singh Yadav ©) aniz féw 7
pansial, ane of the longest serving Chief | 12. - sftere, Efraon Glatie s £ —
Ministers of Haryana was a union LR ﬂ,?“""' 197577 % A dosy
Minister during 1975-77. — I
(&) (A)
{8y Finance (8B)
() Defenice (C) =
©) Lay (D) fafty
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13. Malt extracts of which crop are used as
supplements in energy rich drinks like
boost, bournvita, horlicks.., ?

(A) Wheal (B) Qats
(C) Barley (D) Triticale
14. Rock Garden of Chandigarh was founded by
(A) Nek Chand Saini
(B) Albert Mayer
(C) Maciej Nowicki
(D) None of the above
was the longest serving Governor of
Haryana.
(A) Dharma Vira
(B) Birendra Narayan Chakraborty
(C) Ranijit Singh Narula
(D) Jaisukh Lal Hathi
The first Non-Aligned Summit was held at
(A) Belgrade (B) New York
{C) Delhi (D) Bangalore
17.  Which of the following electromagnetic

spectrum is the chief cause of skin burning,
tanning, cancer, etc ?

15.

16.

(A) UV=A rays
(B) UV-B rays
(C) UV-C rays
(D) None of the above a
18. Following is not a layer of uterus 18.
(A) Endometrium  (B) Myometrium
(C) Perimetrium (D) Ectometrium
19. The number of bacteria in a certain culture

E.?é‘gb'f;“ eveary }Imilr';a If tﬁ:ra were Iﬂﬂ
acteria present in culture origir
; oo 4

how many will be present at the
hour 7
(A) 120 (8) 240
(C) 480 (D) None of these

20. Valueof (241 +(2-1is
(A) 1982 ) 302

13.

14.

15.

16.

17.

19.
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21.

22.

I
Lo,

Investigation of an offence is conducted by
(A) Judicial magistrate

(B) Executive magistrate

(C) Police officer

(D) Both(A)and ()

Identify the IP address from the following,
(A) 300-215-317-3

(B) 302-215@417-5

(C) 202.50.20.148

(D) 202-50-20-148

Which of the following personality is said to
be the father of folk theatre in Haryana 7
(A) Ali Baksh

(B) Lakhmi Chand

(C) Daya Chand

(D) Mukesh Yadav

24. Whatis the cause of Greenhouse affect 7

(A) IR rays
(C) X-rays

(B) Microwaves
(D) Radiowaves

25. Find out the missing number in the

26.

sequence -1, 0, 1, 8,27, 7.
(A) 24 (B) 44
(C) 60 (D) 64

(€ 3.7 (0) [-7,~3]

27. Among the total foodgrain production, which of

28.

the following crops ranks first in Haryana ?
(A) Rice (B) Wheat

(C) Maize (D) Pulses

After successfully setting up two fully
developed food parks in Haryana, State
Industrial and Infrastructure Development

" Corporation (HSIIDC) s developing another

-

mega food park at
(A) Rai

(B) Saha

(c) Barhi

(D) None of the above

If |x — 2] = 5then x lies iai&d B
(A) [-7,3] (B '

21,

22,

23,

24,

25,

27.

28.

/2010 vy &)
v s @ AT (e LR Ll ki
(A) e wiw2
(B) wFrirers afaz
(C) fem sfirs
(D) (A) 3ftt (C) =T
referfera § @ smid vgs sl |

(A) 300-215-317-3

(B) 302-215@417-5

(C) 202.50.20.148

(D) 202-50-20-148

Ererferfern & 7 frft v 3 o fagar W

(A) W= T

(B) wft W=

(C) zm =

(D) AU

A m m Em wEn k7

(A) IR (B) HEs

(C) X-Fem (D) Them et
#1-1,0, 1,8, 27, 7 % A SEm I W |
(A) 24 B) 44

(C) 60 (D) 64

IR x=-2| & 5Mx____ ARk

(A [=7.3] 8 .7

) 3,7 O =7.-3)

For e s | frafedim 4 @ waah
s wiamn # guw T g b

(A) M1 ®

(C) W (D) =™

i # aweangs 9 quifasfos g od
TTfE W & A e v shefe o
s w fawm S WeE (Msipe)
' ol g ok fawfie
me

(A

(B) ¥

(€) =
(D) 74 H A% T
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28, is the state animal of Haryana.

31.

34.

(A} Elephant
(B) Blackbuck
(C) Indian bison / Gaur
(D) Asiatic lion

A symptom of acute chest pain appears
when no enough oxygen is reaching the
hearnt muscie is

(A) Angina pectoris

(B) Atherosclerosis

(C) Heart failure

(D) Hypertension

Two dice are thrown together. Let A be the
avent of ‘getting 6 on the first die’ and B be

the event of ‘getting 2 on the second die’.
The value of P{A n B} is

& Ms ® Jas
(C) }é (D) None of these
The number of ways of choosing 4 cards

from a pack of 52 playing cards such thal
four cards belong to the same sult is

{A) 2860 (B} 2086

(C) 2680 (D) &
T ”&&ﬂa
{A) Rohtak )

() Ambala (D) Chandigarh

Which set of letters when sequentially
placed at the gaps in the letter series
it"?ﬂpm _NPMO_PMON_ will complete

(A) PNOM (8) NMPO

(C) ONPM (D) MONP

In 2 group of 85 paople, 40 fike cricket, 10 ke
both cricketandtenis, The number of people
who like 18NS only ang et cricket is

(A) 35 ® 25

() 40 ©) 15

2 gummerea gt
(A
(8) Fremeir
(C) W“ﬁ"’":
(@) W IR - o b SR
30, a7 o oy WA & ot & e foad
mq@ﬂmﬁ"“ﬁ
;N : _-,,qmrnh
() e T
(B) e L
(C) FEATaE
(D) FEETETAT
31 aﬁmﬁmm“‘"ﬁhm*“
s e e 0 A
FHEA R .f'
{A) 18 (8) .V'H
© Y% () vt A
32, ﬂmiqﬁﬂaﬁﬂliﬂaﬁ'!
ﬂ:ﬁi—:i‘lﬁﬁaﬁmﬁiﬁﬂiﬂﬂi
w
{A4) 2880 iB) 20868
(C) 2680 ©) v i ah
B ramBiuman _ dp)
(A) e (B) v
34. N W Wa-m
-M~"Pmmmq T ‘
&) palif'““'*‘!‘*"!
() ONPM m’ NMPO w
35. 657 & v e
£, 1052 s ﬂ"“ﬁ*zﬁ*ﬂ
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36.

al.
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:
38.
|
B
B) 39.
ﬁ 40.
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ﬁ 41.
42.
3
T 43.
g |
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Which of the followin
oW
phulkari 7 ing is not a type of

(A) Chope

B) Meslak

(D) Mudha
Which among the followin

slatement aboul
SAARC is wrong ? o i

(A) SAARC members signed to a treaty
ﬁ1|?d SAFTA
Eg% Its first Surmmit was held at Bangalore

lts Headquarter is located in Katmandu
of Nepal

(D) SAARC was established in 1985
‘Pidi’ refers to

(A) Terracotta (B) Wood Carving
(C) Footstool Craft (D) Metal Carving
If 'HEATER' is written as 'KBDQHO'. How

'COOLER' can be coded ?
(A) FLRIHO (B) ALRIHV
(C) FRLIHO (D) FLIRHO

The movement of colloidal particles under
an applied electric potential is called

(A) Brownian Movement

(B) Tyndal Effect

(C) Diffusion

(D) Electrophoresis

Which of the following
missile 7
(A) Trishul (B a

(C) Prithwvi (D) BrahMos
Haryana Police and the Depariment of
Women and Child Development have
launched a campaign 1o trace and
rescue the missing children of state.
(A) Operation Children
(B) Operation Beti Bachao
(C) Operation Muskan
(D) None of the above
Select the physiological barrier of innate
immunity from the following.
(A) Skin on our body
(B) Acidin stomach
(C) Monocytes
(D) Interferons.

43.

-ITI

36.

a7.

38.

39.

40.

42.

Jiguvia i1} ‘E}

Ersrerfia i @ w4~ G w0 Ll
ik

(A} = p) =

(C) T (D) %

arE & wa A Prafafo 8 8 acER R
o e A

LA) T :{-::-"i'i TR ATIE U g o pETAR
fwo B

(B) TEET TR

(C) SR HUATER AT WAL A fog P

(D) ¥k 1 FaT 1985 1 4]

eI e 2

i 7 i B
(A) I (B) wra W
(Cy wfr (D) Wy

af2 ‘HEATER' %1 "KBDQHO' Fevem e »
A1 '*COOLER' %12 T ¥

{A) FLRIHO (B) ALRAIMV

(C) FRLIHOD D} FLIRRO

o Fga fg  snta wfeefia W W me
. f ErEI R

Ay arafaga nfa

B) figa nim

(c) Tamm

(D) TCAFEHAEA

Freferfim HaR -1 v gt S b
(A T (B) ST

(C) wen (D) FEH

i gfer i wfieen va @ e firaom
A T & i, g A W e i vad
= R

sitatrm Faregm

wiqres A wash

(C) HTTTHA =

(D) 3% 0 @A =t

Fuama nnatanfom = )
fmferfign 4 & i | W S 0
(A) BWR TR W w=

(B) MR 7§ 3

(€) TR

(D) FETHH

(A)
(B)
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44, An explicit process of converting a data from

45.

46.

47.

49.

51.

one type to another is called
(A) type casting

(B) automatic type conversion
(C) data overioading

(D) exception handling

Which of the following is not a High Level
Programming Language ?

(A) COBOL

(B) Pascal

(C) Assembly language

(D) FORTRAN

International Yoga Day is celebrated on
(A) 20 July (B) 21= July
(C) 22 July (D) 21 June

It ‘A" means 'x’, ‘B" means ‘', 'C' means '+’
and'D'means -, then21 C3DG6ABB2 =
(A) 72 (B) 0

(C) 48 (D) nene of these

The mean deviation about the mean for the
data G, 7, 10, 12,13, 4. B, 12 is

(A) 3 (B) 9
[C) 2.75 (O 325
Horseis a

(A) Ruminant hooled
(B) Neon-ruminant hoofed
(C) Ewven toed rooled

(D) Odd number toed had d Oa
____Is the present Advocate Genera 50.

Haryana.

(A) Baldev Raj Mahajan

(B) Nawal Kishore Agarwal

(C) Ashok Agarwal

(D) Surya Kant

Which of the following is correct 7

(A) Sind=-5 (B) Cosf=1
(C) SecB=la (D) Cosap=0

Haryana has appointed ____ the state's
brand ambassador 1o promote Yoga and
Ayurveda. i

m; Baba Ramdev

(B) Sri Sri Ravishankar

(C) Sadguru - _

(D) Acharya Balakrishna

45,

46.

a7,

48.

49,

51.

T T S W gEt R waer o1 T

ae ufEa B

(A) 2T e :
srerfes Zg0 FAAH

(C) =2 AT e

(D) T EEfem '

Eyefetfira #f @ )37 6 3

718

(A) wETE

(B) S

(C) udEed ¥

(D) WA

st am fEEE

=T 8
I (B) 211“7*

(A) 207
(Cy 22 (D) 21 ¥

7fz ‘A =1 AT ), B W waeE T
wAerd o' 3 0w e R, W
21C3D6ABE2=
(A) 72 s o . .

(C) 48 (D) ﬁ'ﬂﬁﬂm
WiET 6,7, 10, 12, 13, 4, 8, 12 % fom wrem
3 e farer @
(A) 3

(C) 275
IR A S
(A) & TN T .
(B) T IpTehl % A e ’
(C), & Fe & et aen g |
(0) fargm wwan # Ief wven ap

e & wdnr un sfowen
(A) mm "
(B) a4 frm smwam

arfyy grntan

W T

8) 9
(D) 325

(C) S sprare

(D) wwm
Frafefem @ 8 Sw-man t ?

(A) Sinb=-5 (B) Cosd =1
(C) Seci =k (D) Cosaii«p

B r e
mmmmﬁ;ﬁ I
(A) ArN T |
(D) HT=H e
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53.

54.

55.

56.

58.

59.

Thelow salini

ity of
of Bengal due to
\A) High evaporation
(B) Hydration

Precipitation
Influx of river waler

waleris observed in Bay

(D)

a:nantly. this country has requested
p f¥ana Government to celebrate Geeta
yanti Mahotsav in their count

Malaysia (B) Ball
Pakistan (D) Mauritius
Select the

. pair in which the numbers are
similarly related to the pair 7 : 24,

(A) 30:100 (B) 23:72
(C) 19:58 (D) 11:43
Three married couple are to be seated in
& row having 6 seats in a cinema hall. If
Spouses are to be seated next to each other,

in how many ways can they be seated 7
(A) 6 (B) 18

(C) 48 (D) None of these

If the sum of first 3terms ot a G.P. is :_Z

and their product is -1, then the common
ratio is

(&) ~Fjor =4/

(B) -1
(©) 3 or 4

. 13-%
éﬂ d
Stomach of ruminants is div

(A) Four parts (B) Two parts
(C) Three parts (D) Five parts
A charge is framed by

A) The court (B) The police
(G% The prosecution (D) Al the above

Which one of the following s not a search

ﬂ'{%ﬂ gp mougze ési Chrome

Ya ) @ﬂ:{_ :

1% s i IS o) _[];lﬁlar;f of
a

vho was the first woma
i'm T

ryana who served
ite ?

56.

57,

3/2018 (1) (E)

TE ) ardt 4 = ) o
& e P )

(A) T=1 amoresrda

(B) wefrem

(C) amm

(D) & & A W) HATam

TR A, wa T T gt ofren @ e
T % fem eframn gren 8 sy fen f

(A) werfara (B) I"?—.l"1
(C) wifeeTa (D)} wtfos
ax wre qfan frad e w5l e

-zt @ wafua v fam wew 7 24 @

(A) 30:100 | 23:72
(C) 19:58 DY 11:43
#3 frnfien et =) ow fivm iy @ g o0

o v Ui 1 43 @ | o i o W oo

Efﬁﬂﬁﬁﬁm’.?h'ﬁfmimnh:r

MEFNRT?

(A) 6 B) 18

(C) 48 ©) R & wrf 7

v FRAR A oA R e e am 9
12

R sl 3 3A -1 B, A Emn s b

(R) -340r~%¢ (B =113,

(C) %C‘f% D) ¥ o2

mmnﬁiwm____ d &2
[

(A) =T am (B) = wm

(€) #wm (0) T um

U AN ____ K0 S wrm g

(A) (8) .
(C) MW (D) F%a vl
ﬁnﬁhiﬁm—mmﬁmmg 2

(A) & (B) wm

€y ‘Tﬁ.ﬂ- m; fam

efarm &t weet wfean it frer
=g H b
ﬁﬁg‘“wimm

(D) Tory fawms
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= Lal Masjid of Rewarn was constructed during
the rule of

(A) Babar

(8) Mohd. Bin Tughlak

(C) Mohd. Ghori

(D) Akbar

 Select the word which is least like other

words in the group.

(A) Cow (B) Deer

(C) Donkey (D) Goat

First battle of Panipat was fought in
between

(A) Akbarand Rana Pratap

(B) Ibrahim Lodhi and Akbar

(C) Ibrahim Lodhi and Babar

(D) Akbar and Shershah Suri

is the first and youngest woman in
the world to climb ML, Everest twice.

(A) Bachendri Pal
(B) Santosh Yadav
(C) Premlata Agarwal

(D) Arati Saha
was instrumental in collecling a

in Indian Antiquary (1895).

version of the Guga legend and publish
{A) Major J. Abbott a daa

(B) William Crooke
(C) Charles Swynnerton

(D) Richard Carnac

The Amendment of the Indian Constitution

which reduced voting age from 21 to 18
yearsis
(A) 8 B) 62
© @ o

(D) 44
F::;;;?:ism“ Minister of Arunachal

(A) Nabam Tuki

(B) Pema Khandy

(C) Dorjee Khandy
(D) None of the abave

-10-

62.

B5.

i fiamue S mEa e @
@ A |
(A) ®m&
(B) wrem fam guer®
(C) wreswE wil
(D) ¥y
“mgﬁqﬁwﬁmnﬁnnm
w0 fae b )

(B) wim

(A) T
(C) mm (0) W&l

mmgﬂw___*mﬂml
(A) spFart sfir Tom gAY

(8) wanfim =t st s

(C) wanfem =it i amm

(D) s siv Seame |

% um uriz vate Wy e fom
) wam 3w o g A e B |
(A) =H T

(B) wam™ A

(C) Twara W

(D) smfa wE

_ A owa % o weem W owie
#74 3ih v o A (189s) wwifTm e
 wvrem e

(A) WA A, Twz

(B) faferm g

(C) wred fada

(o) fred widw

wreefra wfaar i ae s famd ws sy
w1 21 & 18 a w fam

(A) 61 (B) &2

(C) 42 (D) 44

HEUTEE W & ader e B

(A) AW i

(8) T Ay

(c) sHiamg

(D) 3w A Aw{
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89. Haryana . _
year 2u1§i§f&ﬁﬁmm Samman forthe | g9, g wepa Mfivs weH A 2016 72
the fﬁlbwing Sar\sk?'ita:-:me'? to which of W" 1 @ frs wapn A ¥ tE
':;3 Prof. Shrikrishna Sharma ?:: i, s 7y
EC: Acharya Mahavir Prasad Sharma (B) sprrd wEw TEw bl
Prof. Rajeshwar Prasad Mishr (C) . v v
(B) Pandit Sitaram Shastri Acharya (D) . AT g s
0. Eﬁ?ﬂ:‘gﬂ1 ;i;malnﬂ only pure virtual | 70, #a= !1:: ‘.:mmfl wETd At
(A) base class (B} derived class (&) s (B) =g wr L W
(C) abstractclass (D) inherited class (€) wm (0) satT gn Siw
. IWP(A) = % and P(A ~ B) = %, then | T1. AMEPA)= 4L smPA - B)= o
(AR # P(3%)- |
1 1 .1_ - . .'I
(A) 0 ® 5 A 1o ® 3 0
<) % o) %%, © % o Yoo
72.  Which of the following s not a keyword in | 72, Frerferfam # & @3- e & uw o e
python 7 TR
A) T (B) Except (A) 71 (B) TRz
(C) Throw (D) Pass (C) m (o) W
73. The code name used tolaunch aninvasion | 73, 2003 ¥ quan W ETT
on Iraq by USA in 2003 was e el gy <>y
(A) Operation All Clear (A) wfrtrm wife femm
(8) Operation Iragi F (B8 m ) rem
(C) Liberation of Irag (C) feritmm st wr
(D) Operation enduring freedom of Iraq (D) wheres wgghm Fem sts g
74. Ekuverin, a bilateral military exercise | 74, ¥Emld
m held in Belagavi, e i ﬂ: E? “IMF"“T ST, A
(A) SriLanka (B) Maldives ‘g’ m (B) Werd
(C) Nepal (D) Singapore (C) T s (@) T




3/2018 "
. Predict the output “sum” in the following

.

program.
sum=0
foriinrange (1,11,2):
SUM+ =
print “sum=", sum
&) 1
(C) 24

(B) 22
(D) 25

Total number of gold medals bagged by
India in the recently held Commonwealth
Games is

(A) 25

(B) 26

(C) 27

(D) 23

Karthik cultural fest in Gurgaon aims at
promoting

(A) Agricultural harvesting

(B) Martial arts and folk arts

(C) Happiness of husband

(D) Mone of the above

The leading Producer of Manganese in

dda

(A) West Bengal

(B) Jharkand

(C) Odissa

(D) None of the above

In python, operators with same precedance
are evaluated

A Hlmup'l'éﬂ:

78.

|-l_-'i

ﬁﬂwwif-‘“w"m

sum =0 ;
fgnh'lwﬂ'”'m'

sum+ = |

sgums=", SuUM
E;Tlﬁ (B) 22

et i o e we A S T 9T
mﬂqﬂgwﬂﬁMl




A

B3.

84.

85.

A convex lens of focal length 20 cm is

E‘?ﬂ?ﬂd co-axially with a convex mirror of
13 Ius of curvature 20 cm. The two are kept
15 ¢m apart from each other. A point object
!?hﬂ;aﬂﬂdlﬁﬂ cm in front of the convex lens.
position of the image formed by the
combination is v y
(A) 60cm (B) 40cm
(C) 30em (D) 10cm
The mean deviation of the data 3, 10, 10,
4, 7,10, 5 from the mean is
(A) 2
(B) 257
(C) 3
(D) 375
Which of the following is not an award
presented by Haryana Sanskrit Academy ?
(A) Maharishi Valmiki Samman
(B) Mahakavi Baanbhatt Samman
(C) Maharishi Vedvyas Samman
(D) Mahakavi Kalidasa Samman
A and B are married couples. X and Y are
brothers. X is the brothar of A Y isy
related to B ? g, & .
(A) Brother {w v I
(C) Son (D n . '
There are four bus routes between A and B,
three bus routes between B and C. A man
can travel round trip in the number of ways
by bus from A to C via B. If he does not want
to use a bus route more than once, in how
many ways can he make round trip ?
(A) 72 (B) 144
(C) 14 (D) 19
which of the following districts of Haryana
is richest in mineral resources 7
(A) Fatehgarh
(B) Mahendragarh
(G) Hisar
(D) Ambala
13-
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89. Benny had finished cooking when the (A) afeF
visitors
(A) entering (B) were entering (B) FA
(C) entered (D) had entered (C) &=
90. He two wickets before play was (D) wEw
interrupted by the rain,
(A) had taken (B) took 96. T WA WM’ ¥ TR %1 A s B
Complete the sentences selecting correct option ! (B) T T wran B
91. As soon as the speech slarted (C) T 8w v ard #
(A) than the demonstrators rushed to the (D) T T
platform : ;
(B) the demonstrators rushed to the | g7. a0 % fet & it §
platform i
(C) then the demonstrators rushed to the A
(D) when the demonstrators rushed to the (C) =MW
platform (D) FAAT=m
92. Woe are so late F et - S i
(A} 1o catch the train e, l‘-ﬁ 3 WA | AR R -
(B) that we could catch tHe%ai -7 w7
(C) we couldn't catch thef ;_u‘ j (A} Fai wrw
(D) that we cannot catch the (B) wd ww
Select the correct indirect speech for the following : (C) ™ Wi
93. The master says "Have you seen the map 7 ©) WY
(A) The master said had he seen the map Fpgren
(B) The master asked had he seen the map 9. v t
(C) The maserinquires if he has seen the map (A) Wrews
(D) The master inquiras if he saw the map (B) wiifin
94. He said “Be quiet and listen to my words”, () foran
{(A) He said to them be quiet and listen to (D) M=
his words
(B) He told them to quiet and listen o his | 100. T’ ¥rez % wifém =y #
words (A) T
(C) He urged them to be quiet and listen i
(B)
to his words
(D) He urged them if they sit quiet and (C) I
listen to his words (D) 3
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